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Note :

»(a)b Define elasticity of supply

 Answer anyﬁve parts in brief :
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: Answers may be written either in Enghsh orin Hmdl, but the same medxum should be

used throughout the paper.
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Question No. 1 is compulsory
Do any two questions from S_ectlon A '
| and any two from _Seotion B
W Fen 1 s ¥ 1
Cowm ‘e @ ovm '@’ @ ﬁ$#ﬁ’
XD I F 3ﬁt‘éﬁﬁq:| |
' o 3x5=15

P.T.O.



'(2") i 8101
v .-(vb) . What is comparative advantage theory of trade ? | |
(¢) Whatis nationél income ?
(@  What are inferior goods?
(¢)  Explain mSactiom-aemmd for money.
| (/) What do you understand by/dimiﬁishiﬂg marginal uﬁliﬁ ?
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Section A |
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(@@  What will happén to equilibrium price and quantity in the market for exercise books
if paper becomes more expensive ? , , I 7.5+7.5=15
(b) .Show the effect an increése in the price of a.good X oh consumer equilibrium if X‘
is a Giffen good. | |
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State the assumptions of perfect competmon and dlagrammatlcally illustrate the long-run

eqmllbnum of a typical firm and industry. 3+12=15
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(@ Doesa monopolist always earn a positive/super normal profit ? 6+9=15

() Describe the equilibrium of a monopoly using a diagram.
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Section B
Cluls:-y)
In a two sector economy, the consumption function is given by C =20+ gY and

autonomous investment is 50. : , 5+5+5=15

(@ What are MPC, MPS ?

(b)  What is the value of the multiplier ?

(¢) Whatis the equlllbnum level of income ?

ﬁﬁaa@imamﬁm%ﬁnwwm% C = 20+—Y @tmﬁéﬂ

50 ), @ :

() MPC a1 MPS &I § 7

(F) T Y ?

() 9 & G-TR | g ?
| PTO.



o Gor e
6. (4  Explain GDP, GNL GNP I 04615
L .‘(b)'_'-. What do you understand by aggregate expen~d1ture ‘7.
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7. Writej short notes on any two : ‘ : 7.5+;7.5=15'
(a)' Crédit creation -
b)) - Speculéﬁve_ déma‘nd for money
©) A'iaso_lute .ad\_'lar'ltage theory} of trade.
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